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MAF 2302/MAE 2302 - Applied Mathematics
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Answer All Questions. o
01. Show that for two event A and B is a finite sample space S :

02.

03.

P(AUB) = P(A) + P(B) - P(ANB).

In a group consisting of 40 people, there are 20 university students above 35 years, 4 people

- below 35 years of'age and 6 people above 35 years of age who are not university students.

One person is selected at random. out of this group. By using the above results or othermse -
find the probability of selecting

(1) A university students below 35 years of age.

(ii) A person above 35 years of age or a university students.

An unbiased coin is tossed 4 times. By t.aking X, the number of head obtained as the
random variable, ‘prepare a probability distributions chart by making use of this chart find
the mean and variance of X. :

Evaluate, -
(a) D(e‘xz) .
(b) (D +3)cos 2x.
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| (a) D(e“xz) .

(b) (D+3)cos 2x.
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(a) D(e’xz).

{b) (D + 3)cos 2x.
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